Name ICP Parallel and Perpendicular Lines 8-20-15

Goal: Define parallel, perpendicular, and intersecting lines.

1. parallel diagonal lines must have slope
(same, different, or opposite and reciprocal )

2. perpendicular diagonal lines must have slope
(same, different, or opposite and reciprocal )

3. intersecting diagonal lines must have slope
(same, different, or opposite and reciprocal )

4, horizontal lines are parallel to
(other horizontal lines, any vertical line, the x axis, the y axis)

5. vertical lines are parallel to
(other vertical lines, any horizontal line, the x axis, the y axis)

6. horizontal lines are perpendicular to
(other horizontal lines, any vertical line, the x axis, the y axis)

7. vertical lines are perpendicular to
(other vertical lines, any horizontal line, the x axis, the y axis)

Goal: Write a line that passes through a given point that is parallel to a given line.
Goal: Write a line that is perpendicular to given line that passes through a particular point.
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Goal: Write a line that passes through a given point that is parallel to a given line.
Goal: Write a line that is perpendicular to given line that passes through a particular point.
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Goal: Define properties and traits of parallel and perpendicular lines
Goal: Write equations of lines that pass through particular points with particular characteristics

Use the line y = 2x+6 to answer the following questions
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State the slope of all lines that are
parallel to the line y = 2x+6

State the slope of all lines that are
perpendicular to the line y = 2x+6

State the equation of the ONE line
that is parallel to the line y = 2x+6 that also passes
through the origin

State the equation of the ONE line
that is perpendicular to the line y = 2x+6 that also
passes through the origin

State the equation of the ONE line
that is parallel to the line y = 2x+6 that also passes
through the point (4,2)

State the equation of the ONE line
that is perpendicular to the line y = 2x+6 that also
passes through the point (4,2)
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State the equation of the ONE line
-3
that is parallel to the line y = 7 X+ 6 that also

passes through the point (-3,0)

State the equation of the ONE line
-3
that is perpendicular to the line y = 7 X + 6 that

also passes through the point (-3,0)




Goal: Write an equation in point slope form of the line Point slope form of the line
given a point and a slope Y=Y = m(x— Xl)

Goal: Convert point slope form of a line into slope
intercept form of a line

Goal: Determine the given point and given slope of a point
slope line

Modified Point Slope form of the line
y=m(x-x)+y,
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28. Write a line in point slope form that has the point (10, -3) on the line and has a slope of ?

29. Convert the previous line into slope intercept form of the line

30. State the implied point, and slope from the following equations

a. y-6=-3(x+5) Thislinehasslope=___  andthe implied point that it passes through is
b. y+4=2(x-1) Thisline hasslope=____  and the implied point that it passes through is
c. y-7=5(x-4) Thisline hasslope=____ and the implied point that it passes through is
d. y+3=-7(x+1) Thisline hasslope=___  andthe implied point that it passes through is
e. y=-6(x+1)+8 Thislinehasslope=___ andthe implied point that it passes through is
f. y=1(x9)-2 Thislinehasslope=___ andthe implied point that it passes through is
g. y=-2(x+5)-6 Thisline hasslope=____ and the implied point that it passes through is

h. y=5(x-2)+8 This line has slope = and the implied point that it passes through is




